TH7ESAERS REER

BRE BAEFBEERIEREHLE

B & A % & B H BE KR
D—L(KEH) EHMmEXEBE 0157 b= %
C A< (250g) fREHMmEXEEE 0157 = %
=T D KE (B) 1kg rEHMmEXEBE 0157 b= %
FaaFvI(BR fREHMmMEXREZE 0157 b=
F3aL—ro—L EHMEXEBE 0157 b= %
DEZAITHL(AYE) REHMEXERE 0157 = %
RLYZAIZwL fE M REEE 0157 = %
ASYBIT(EE) (P HY) fREHmMEXBZEE 0157 b=
AYDTURB) (DYANDE) e MM REZE 0157 = %
TIL—yE)—(KER) /1> fREHMmMEXEZEE 0157 b=
YAR—ZXARLYI LT (FLILE YT =) g M KIZE 0157 = %
TAR—RXBERL YT (KE) fAEHmEXBE 0157 = &
TAR—XARLYI VT GRERA) frEHMmEXEBE 0157 = %
3—4 )Lk 2737 70g fAEHmEXBE 0157 (e
3—J L (LK) 708 e M KIZE 0157 = %
mEEF fAEHmEXBE 0157 = &
—O&XX fREHMmMEXREZEE 0157 b= %
/5L (500g) frEtmAEXBE 0157 =
175 (900g) fREHMmMEXREZEE 0157 e
RIAITRL(Yh) frEtmAEXBE 0157 b= 1%
INADEAE (62) fREHmMEXREZEE 0157 b= %
NADMAE To(EiR fAE Mt XBE 0157 = %




TH7ESAERS REER

BRE BAEFBEERIEREHLE

B & A % & 1E H BE KR
BMFEFXZ fAE Mt XEBE 0157 b= 1%
BEH<H fREHMmMEXREZE 0157 =
KRAHZ(FER) fAE Mt XEBE 0157 b= 1%
FHEEN(ER fREHMmMEXREZE 0157 b=
SEHE(FER) fAE Mt XEBE 0157 b= 1%
B#&% (Fim fREHMmMEXBZEE 0157 b=
BHAZ F(ER fE M REEE 0157 = %
EX g I KIZE 0157 = %
BX fE M REEE 0157 = %
AEE)— TUBALYAC 60g(ER g I KIZE 0157 = %
AEIINL—YE)—(EEYAI)50g frEtHm4EXBE 0157 b=
AENDHLEIE - #344)(30g) fAEHmEXBE 0157 = &
ARWHLEE - #311)(40g) frEHMmEXEBE 0157 = %
AEVDHLERSE - #3H)0/NEH DO H frEtmEXEBE 0157 b= 1%
AREODHL (BAE - BM400)ik 4 - N E# e M KIZE 0157 = %
REVAT—(HoUE) fAEHmEXBE 0157 = &
AMRVAF—(AYh) g M KIZE 0157 = %
AEITHIT (Fvh) fAE Mt XBE 0157 = %
MEITHIT (hub) MAKXKE fREHMmMEXREZEE 0157 b= %
MEIEA fAE Mt XBE 0157 = %
BELLLY(TL—) g MM KIZE 0157 = %
mEMMDESL fAE Mt XBE 0157 = %




TH7ESAERS REER

BRE BAEFBEERIEREHLE

B & A % & 1E H BE KR
mRFa—Y EHMmEXEBE 0157 b= %
BRIV UE—REZL g MM KIZE 0157 = %
ARAOVT (AAY) rEHMmEXEBE 0157 b= %
AEY—ELT751(50g) fREHMmMEXREZE 0157 4
ARE(E (H1E)(40g) EHMEXEBE 0157 b= %
ARSI (HIE)(50g) fREHMmMEXBZEE 0157 b=
ARSI (HE-AY) frEHMmEXREBE 0157 = %
MESDHL(AY) fREHmMEXBZEE 0157 b=
mRSHL (H18) (40g) frEHMmEXEBE 0157 = %
BE1—T 1 (18g) g I KIZE 0157 = %
BEFEUNDIN—Y (60g) g M KIZE 0157 = %
AEFEUR—I fAEHmEXBE 0157 = &
BEBYHAL frEHMmEXEBE 0157 = %
ARESBAILEZL fAEHmEXBE 0157 = &
ARICALAEZL frEHMmEXEBE 0157 = %
BENIN=Y fAEHmEXBE 0157 = &
BER—OY (hyb) X9 EE g M KIZE 0157 = %
MEA—AY (hybh) XEE fAE Mt XBE 0157 = %
BERILRINL (HYR) g M KIZE 0157 = %
MEIS—RR—IL frEtmAEXBE 0157 b= 1%
MEIZ A1 F—(8g) g MM KIZE 0157 = %
MEIVFHY (50g) frEtm4XEBE 0157 b= 1%
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BRE BAEFBEERIEREHLE

B & A % & 1E H BE KR
R TF Y (60g) EHMmEXEBE 0157 b= %
MRUERE g MM KIZE 0157 = %
bl .20 BEHMERBEE 0157 (=3
MEERA g M KIZE 0157 = %
AEBHNDET L¥a5— BEHMERBEE 0157 (=3
MAEBMNET BRI AX) fREHMmMEXBZEE 0157 b=
AEEN(EDE-5ghvh) fE M REEE 0157 = %
AEBN(EDE-8ghyh) g I KIZE 0157 = %
AEBRAEDE-13-10ghvh) e MM REZE 0157 = %
MREBA(KD2E-L1-15ghvh) fREHMmMEXEZEE 0157 b=
MREET(RD) frEHMmEXEBE 0157 = %
AEEBIT(EZ) BEREGT fAEHmEXBE 0157 = &
AREE (HIE-AYDA (20m) frEHMmEXEBE 0157 = %
nEES fAEHmEXBE 0157 = &
R BERK frEHMmEXEBE 0157 = %
MEREEAL fAEHmEXBE 0157 = &
MRPER g M KIZE 0157 = %
MREE frEtmAEXBE 0157 b= 1%
MAEEE (Fe) g M KIZE 0157 = %
MREE(K) fAE Mt XBE 0157 = %
HEFRA(£3)3mm3 X 3cm g MM KIZE 0157 = %
AEBRR(O—R)3mm 3% 3 frEtm4XEBE 0157 b= 1%
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BRE BAEFBEERIEREHLE

B R % B & EH BE®E
MEBRRLL fAE Mt XEBE 0157 b= %
ARBEALY (21 X 3cm) fREHMmMEXREZE 0157 =
MEBRRLY (A fAE Mt XEBE 0157 b= %
ARBH AKX S (50g) fREHMmEXERE 0157 = %




